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1:createtask()

2:spawn()
/v' TaskManager
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mail
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FifoManager CpuThreads GpuThreads CudaThreads
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0 2.1: Task Manager
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multi_init(TaskManager *manager)

float *A, xB, *C;

// create Task
HTaskPtr multiply = manager—>create_task(MULTIPLY _TASK);

// set device
multiply—>set_cpu(SPE_ANY);

// set inData
multiply—>set_inData(0, (memaddr)A, sizeof(float)*length);
multiply—>set_inData(1, (memaddr)B, sizeof(float)xlength);

// set outData
multiply—>set_outData(0, (memaddr)C, sizeof(float)*length);
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17]
18 // set parameter

19 multiply—>set_param(0,(long)length);
20
21 // spawn task

22 multiply—>spawn();
23| }

create_task | Task OO0 O 0O0O

set.inData | Task D00 O0O00O00O00OOOO0O0O

setoutData | Task OO0 0000000 OOOOO

setparam | Task OOOOO0OO0OOOOOO0O length

set_cpu Task OO0 O0O0OO0OOODOO

spawn 0000 Task O TaskList O set

021 Task DOODOOOO API

O0000000000000 TeskODOODOOOOO 220000

gboooog 2.2: Task

1| static int

2| run(SchedTask xs) {

3 // get input

4 float *i_datal = (float*)s—>get_input(0);
5 float xi_data2 = (floatx)s—>get_input(1);
[§

7|

8|

// get output
float xo_data = (floatx)s—>get_output(0);

10 // get parameter
11 long length = (long)s—>get_param(0);

13 // calculate
14 for (int i=0; i<length; i++) {

15 o_datali] = i_datal[i] * i_data2[i];
16

17| return 0;

18 }

000220 Task OO0OOO0O APIODOOOTask OO0OO0OO0ODO Input Data O

parameter OO0 O0O0O0OON

0 22: Task OO0OOO0O API

get_input | Scheduler 0 O input data 0 0O O
get_output | Scheduler 0 O output data O 0O O
get_param | set_param U0 0000
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(allc-ylz")b : a,[c-y] b @

z

current . t next
state inpu state
1 a 4
[c-y] 4
4 b 2
z 4
0 4.24: dfa
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oooooooooooo??
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current
state

1

13

. next
condition state
[A-Z] 1
[b-Z] 1
a 13
b 4
a 2
[A-Z] 1
[c-Z] 1
a 15
b 5

current
state

15

. next
condition state
[A-Z] 1
[c-Z] 1

a 15
b 5
[A-Z] 1
[c-Z] 1
a 13
b 5

O 4.27: Transition Table
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a0 al a2 a3 a4 a5 ab

O 4.29: Character Class OO0 OO QOO O

[a0-a1 a2-a3 a4 a5-af) insert : [b0-b1]
b0 b1
|| [
— Lol | el — 5]
a0 al a2 a3 a4 ab5 a6
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